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(THEORY—WITHOUT BOOKS)

|9/ Time : 3 S&/Hours el 37H/Max. Marks : 100

| feoaforar /Nores :

| | el g 16 WA § ® 12 wed @ I fe s e |
’ Out of 16 questions, only 12 questions should be attempted by the candidates.

>, e T S I R § | W S ar Sepe @ for i €
\ Each question carries EIGHT marks. FOUR marks are reserved for general excellence.

3. yeA @ |t w1 39 O A e R s = |
fﬁ Answers to all part questions should be written in one place only.

4, mmﬁ'mwﬁmﬁﬁmmmlwmﬁ@mﬁgﬁ:mmﬁﬂmm |
Only question number shall be indicated in the Answer Books. Reproduction of complete question in the
Answer Books should be avoided.

L (%) T T FEE R F A e 2 T w T W R @ o T R 2
(@ Can an employee refuse promotion 2 Is he eligible for further promotion ? (2 siw/Marks)

|
| (W)mam@mhﬁmﬁmmﬂmwmmwﬂmﬁﬁaﬁa@wmmﬁ%:
(o) Please name the PCDA/CDA offices which audits the Pay & Allowances of following :

(i) WRee, STEm ¥ A AR AFHCT
Air Force Officers posted at Jorhat, Assam

e (i) e, W SR wYH H A e SR
! Army Officers posted at Baramullah, J&K (2 SA®/Marks)

(m mmmﬁaﬁwmmﬁaﬁﬁﬂﬁaﬁﬁﬁwgmﬁﬁmwﬁw&? :
(c) Please name the offices which update the following Office Manuals :

(i) =ratera s g 9w - Vi,
OM Part - VI,
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(i) Fratera fram @ wm -1X,
OM Part - IX,

(iii) =ratera fram s W -X,
OM Part - X,

(iv) Fraiera fram ge s -XI;

OM Part - XI; (2 SAF/Marks)
(%) 9 - | Frafer Ry el wEd ¥ ?
(d What is Part—| Office Order ? (2 siw/Marks)

(%) s T wERE 10 3 S & A0 T W A @ s e & wey J iR st
F ¥ | TR TR ove= € ok 9 PriTw G e wWies w1 e Jed ¢ | #9198 WY § 2 FO
feroquit =i |

(a) Comptroller & Auditor General has raised serious objections to functioning of a Government Department
during aduit. Govemment is unhappy and wanted to remove C&AG. s it possible ? Please comment.

(2 #AF/Marks)

(&) Wmﬂ%%ﬁﬁmﬁm%wﬁmﬁgmﬁﬁmmwﬁamﬁwﬁﬁm@mﬁﬁmm
wiar Bt 2 2

(b) What happens to the Audit Reports of C&AG containing results of audit of Accounts of Union and

States ? (2 FFF/Marks)

(M) = T o A u ST ik sraraden sfaal # vt wwa @ 2 Foa oot w
(c) Can a Section Officer in DAD waive audit objections ? Please comment. (2 si®/Marks)

(%) ok SRt 1 ST Ty creren sfwR S T s R, @ Fm e 2

(d) What happens if vouchers are not scheduled to LAO ? (2 H=w/Marks)

(%) %P el ¥ 75 wva & b e, Wiy framecd # stin wh W FeE W) e S g #
Tfea faru fam € w21 (AR) <% aferifia o faa ST | Foa S | H SeerE

(a) In certain cases it is possible to impose major penalty on a Government servant without holding any

inquiry under CCS, CCA Rules. Please name two of them. (2 sAFH/Marks)

(@) T SR WS § O T w ety wad g et @ | 5w faah @ 2
() An appeal in a disciplinary case has it period limitation. What is it ? (2 3TF/Marks)

() TF SRY-TF | GO B AR o w7 g ?
(c) What is a Statement of Imputation of misconduct in a charge sheet ? (2 3/Marks)

() T 3 S FAEE B WE B 30 TEE 3 9 6 e FHEE F R0 T T @ FrEed ¥ §H F g
o g SR e & | W T s W i 4 O ST H R w0 w o a
TR T8 orET TeEE FEAE ® g # W 9% wiaE wel g 2 oA fewnit X

(d) 30 staff members in a PAO have given a joint representation for leaving office one hour early due to
likelyhood of heavy rain. ACDA-in-Charge refuses to accept such a representation. Is it correct action

on the part of ACDA-in-Charge ? Please comment. (2 #F/Marks)




(%) TF SR i 3 79 SRR e B §9 § U T9i S T F1 e H 8 | 79 98 @i € 2 9
fram 1 Soor@ =+ |

(@) Acharged officer has requested for approachig a lawyer as his Defence Assistant. Is it permissible ?

Mention the relevant rule. (2 3iF/Marks)

(@) o2 32 % ®9 9 ¥ Q ¥ T 3R To7 R W F e HRW F Fa |
(b) Please state the difference between Removal and Dismissal from service as Major Penalties.
(2 3{&/Marks)

() U STNITEARTS AR § U P ates (75g 3fevm) & foa o #Ro & oo # |
(c) State one reason for a Review Petition in a disciplinary proceeding. (2 3TH/Marks)

(%) TF FHE0 | B0 B TR 1 38 Aferifea fwmm mn o | Fo sad fF #0098 @ s (ARTW) dea
T (W) TR ?

(d) A penalty of withholding promotion was imposed on an employee. Please state whether it is a Minor or

Major penalty ? (2 siF/Marks)

. (%) &N o fasm % st ® u wHEd 3 g sfieret J aun fAfed e o= wlER % faae dedt e

F W 2 | gEN P fewr afufrm # s @ fre v w e 1w g 2
(@) One employee in DAD office has asked for marriage particulars of another employee as contained in
Service Records. How can it be denied under RTI Act ? (2 SAF/Marks)

(@) gEN F AUFER B TH N9 F G FES F A F W FE H WG R N FE F fefordi

Ieuifea foman < et 2 2
(b) Can the notings of the file be disclosed in case of a RTI application to obtain the same ?
(2 #1F/Marks)

(M) I wfuwr sfufam $ adie enifuft g v w0 % fon st fae ver F=a gem emEm
HIH H GHAT € 2 - ‘
(c) How can an individual approach Central Information Commission (CIC) to obtain required information
under RTI, Act ? (2 FFH/Marks)

(9) UH MAALA F FR T GIA P AUHER F o wiedt Fi g wwH FE | 9 Ry 9w e,
g sifeRifaa fir S At 53 # el feet € 2

(d) What is the amount of penalty that can be imposed by CIC for denying the information to an RTI

applicant by a CPIO ? (2 AFH/Marks)

(%) WA i gafea iy ffd #ed € 2
(a) Whatis consolidated Fund of India ? (2 sF/Marks )

(@) et fod S, TR F Ha e T H T FE 2 2
(b) What is the work of Central Accounts Section of RBI, Nagpur ? (2 s=/Marks )

(M) & Saet # fafEeT o8 F B TR w1 € SR g ¢ ?
() Who prepares and signs Appropriation Accounts of Defence Services ? (2 sAF/Marks )
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(9) & oA ® foa ww a2 vid (AR B3) # o stefed 4 ot # F2 W w1 A W ween i ¥ wE2

A ?
(d Inthe scheme of 4 digit code head allotted for a Major Head for Defence transactions, what does
1st digit indicate ? (2 37F/Marks)

. (%) TER T FHI R0 G F I W gE L ?
(@ What is five tier arrangement of Classification structure of Govt. Accounts ? (2 3TF/Marks)

(@) = fawga v (feiee 32) oMl %1 Wi & for fafraem =1 wofes 4w 2 | @ @er # fog #m
Wit & 2

(b) Adetailed Head is primary unit of Appropriation for demand for grants. Who is authorised to open it ?

(2 3¥#/Marks)

() =g ST SR e ® w9 H At fe s @ | s Prefefen s w5 i e v w9 E 7
(c) Anexpenditure is classified as Capital and Revenue. How do you classify the following expenditure ?

(i) ws 7u fafda wratea % fog s =) F1 smEvasa

Furniture requirement of a newly built office

(i) T N =% fou affs w@-vam 35

Annual Maintenance Contract for a Telephone Exchange

(iii) wF Syerq w arfumfa
Procurement of a Laptop

(iv) % F/gEE | AEEe gonet & waeer (fremez)
Replacement of Air Conditioning system in an Aircraft (4 sF/Marks)

(%) i SR S 3 T 9 ST F S e g @ e, % s @ e T g g e v
A 73 TR F AR B U OE 7 F O R | g 3 e e Sfwi @ w2 o
TR 1 AU (39) F 3 | 39 e waR stfeeam fe s ww g 2

(@) LAO has raised an objection that a truck has been detailed by a unit to collect few items from Railway
Station without approval of C.O. of Unit. Unit has requested LAO to waive the objection. How can it be

waived ? (2 sT=%/Marks)

(@) ueRM U ghE 3 & o FrE # weied F o O T v @ el g s w5 e s
% o § | 7 30 Fram & et =ieR fear o1 g @ 2 e feogoh 1)

(b) An Army unit has submitted a claim to CDA office where some figures have erasures. Can it be

accepted under rule ? Please comment. (2 31%/Marks)

() & SrEn R T WA 1 A SrEraie Y93 W B 8 | §6 1 IRV € 2
(c) CGDA fumishes an Annual Audit Certificate to Ministry of Defence. What is its purpose ?
(2 #HF/Marks)

(9) & orE Heltaas g S Ry T e  faeg sqeen 39 gU T WA uer SR Fi O fafre
T F YA A # foe Tk Siw s fwa @ | F 7e Framer ? 2

(d) Ministry of Defence has issued an order for the payment of a particular allowance to Army officers

overruling the order issued by CGDA. Is it in order ? (2 3TF/Marks)
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9. (F) R #1 fg-wfafe (e w=2t) womett frd w2 & 2
(@) What is Double Entry System of Accounting ? (2 &F#H/Marks)

(@) FI I IR A F Ieer@ FH TGS G TR TF A0aF GE B fata qfomt #21 s

FAE?
(b) Please mention four documents by which Auditors check the financial results of a commercial
organisation. (2 HAF/Marks)

(M TEHTeAfT i@ IR E 1 s g e ?
(c) Govt. Accounts are kept in three parts. What are they ? (2 #F/Marks)

(%) |9 1976 § o % fauriras=o | o9 Fa1 9@ & 2
(d) What do you understand by Departmentalization of Accounts since 1976 ? (2 31F/Marks)

10. (%) SEmaden #t g se (fofe) =g 2
(@ What is spirit of Audit ? (2 #F/Marks)

(@) @ fim frg e & 2

(b) What is permanent advance ? (2 31F/Marks)

(m Wmﬁmmmm%mwﬁmﬁﬁ%ﬁwmmm%mww

9 1 e |
(c) Please state one important check while carrying out Audit against regularity for the bills received in
store section of a PCDA office ? (2 s%/Marks)

(%) SrEradten § @ 9 (Es) w1 w=n sy # 2
(d Whatis the meaning of Three Es in Audit ? (2 s%/Marks)

1. (%) Foa Frerfafen i 1 3w w0 1 3552w =] -

(a) Please indicate the purpose of using the following heads :

(i) 7@ ¥id 2076 3R eFeitd 105
Major Head 2076 & Minor Head 105

(i) 7@ ¥fid 2077 i TEid 111
Major Head 2077 & Minor Head 111

(ii) H& ¥id 4076
Major Head 4076

(iv) 5@ ¥ 0076
Major Head 0076 (4 3F/Marks)
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(@) frefafen faerol & w19 T #2 (F18) viS 1 Seor@ F3d §¢ T e |1y 991 ¢
(b) Attempt to make a P.M. mentioning relevant code heads with following details :

arft wfesral #Y Tl & fow gua . feqt @ yma us faa &t 79 F6 ° @ 3R F g #=5 wH
el et IRT T4 10,000/ B | STEET AT M 2% T T W, SEHT werdt W 20% H T Y wefas foan
AR, HEF FA W 10% F1 T W WA AR seaa e sfsm

Total amount to be paid to contractor in passing a bill received from a ASC Depot for purchase of

fresh vegetables is Rs. 10,000/-. Income Tax to be deducted @2%, primary education surcharge of
20% on |.T. deduction, Secondary & higher education surcharge 10% of IT deduction.

(4 3T/ Marks)

12. (%) T & R F YR # T Y9 F1 SOREIge FAUCE e € | 0 FE uE wEeE @ faed g
WA SErden Afi G g § YeRi #1 g e w9l g 2

(a) Responsibility of physical verification of stores of an Defence Unit remains with executives. Is there

any provision by which LAO can do physical verification of stores in an Unit ? (2 3i=/Marks)

(@) & gL 3 uF G 999§ I5 W # v W R e =57 i sifrafe wee ge snfe # 7 ?
wa e & foeg sgeeen 38 g L FRg WER 59 R HEa 2 2

(b) AnAO GE has objected to an expenditure on a high cost flooring in a Military building as irregular. How

can GE incur the expenditure by overruling AG GE ? (2 sA%/Marks)

() ¥ TF T FHS WHE S S F GEA 3 W T HGwA ¢ 2 FIA feooh F:F |
(c) Can a Unit Commander deny information to Local Audit Officer ? Please comment.
(2 #1%/Marks)

(%) % wE e F eSS w0 owm w1 wiEd w0 6 fady ufea vamEtis w6 # oS
et el = 72 kv fFa @ fF @ 371 3R 9 qeft =79 #1 @iga va@ w1 | 98 e 2 2 F9
feoqoft %1 | -

(d) AO GOC of a sub Area has been delegated financial powers to sanction the expenditure. He has
ordered Dy. GOC to sanction all expenditure on his behalf. Is it correct ? Please comment.
(2 si®/Marks)

13. (%) weifua waeer (farse w@Hz) fFd #8d € ?
(@) What is revised estimate ? (2 3{%/Marks)

(@) smeifia (At fafamm fad #ed € 2
(b) What is modified appropriation ? (2 37F/Marks)

() F=rg s vitd] @ 39 ¥ TR € 2 9N & IR E |
(c) What do you understand by Centrally Controlled Head ? Please give one example. .
(2 3%/Marks)

(%) Y e (afed=d aiz) fFd wed € 2 o 4
(d) What are supplementary grants ? (2 37%H/Marks) :[
|




16.

. (%) foacira faframmeett 133  snfia s fram 2 2

(@) Whatis the rule under F.R. 1337 (2 #{%/Marks)

€:)) wﬂﬁqwé&ﬁmmﬁ%mﬁﬁﬁhfaﬁwﬁﬁwﬁéwé ?
(b) Isthere any provision in Financial Regulation to accept a tender otherthan lowest ? (2 3¥%/Marks)

(1) o A T T ® wde 3 fawd 30 a9 | wE-wwr daed w w0 F o 2 wed gt @i
S & | T oRen P 3 A ) St W g sReiga e & | 7 9w Fren 8 2 Fe
feoqoft %Y |

(¢) C.E.O. of an Army Cantonment has employed daily wage labourers for carrying out conservancy
services since last 30 years. CDA has disallowed the payment being irregular. Is it in order ? Please
comment. (2 sf®/Marks)

(%) ww uem fodg wiver TR, = faedia TomE & feg =gIed 3 & fofg wm @ | SH F Hw
=few ?
(d) ACFAdecides to overrule financial advice of IFA. What should he do ? (2 3FF/Marks)

(%) wret (fag) smea w1 8 F8d € ?
(@ What is Bid Security ? (2 3TF/Marks)

(&) @ngamﬁaﬁwm%ﬁﬂﬁ?ﬁnﬁﬁmﬁaﬁ%amqué ?
(b) What is provision under F.R. fqr issuing a Certificate for lost vouchers ? (2 sT+H/Marks)

() o B T R e A for T e srerare @ W) wed Ry § O e s § et & 1

I6P TEl I @ SR YA e e 2 -
(c) A SubedarinArmy is admitted to a Private Hospital at Mumbai on a reference from a Military Hospital
there. Where his claim should be audited and paid ? (2 #HF/Marks)

(7)o@ T F TF AEW A § AR I § 4 8 | 6 el 9 oo 6 S smefa fean € | 1 WA
TEFR F SR A # STER 6! S Her i st 2 e feogel w |

(d An Army officer is posted at Indian Embassy at London. He has drawn advance of pay there. Is it

subject to Income Tax deduction as per IT Rules of GOI ? Please Comment. (2 SAH/Marks)

(%) wwqﬁeﬁmmwmﬁﬁmmﬁmﬁmaﬁmﬁa%?ﬁ@aﬂw@maﬁ
syrafear #7412 ?

(@) Is the Annual Training Grant to an unit subject to audit ? What is the periodicity of submission of
Accounts ? (2 sH/Marks)

(@) oo T T R 3 T SEren F vl % it O AR F A e g H A /R S
&1 i e a2 | Fen 9P % g i e W e 6

(b) AnArmy unit has paid TA/DA advance from ATG to an officer subject to post-audit. Please comment on

action of the Unit. (2 st&/Marks)




(m ﬁﬁa%aﬁﬁwﬁmmﬁmﬁmmm%eﬁwﬁmﬁaﬂEﬁ% | F1 A STHA € 7
(¢) An unit has hired vehicles & purchased furniture out of ATG. Are they permissible ?

(2 3FF/Marks)

(%) s mﬁwmﬁﬂﬁﬂ,gﬁ@ﬁﬁﬁwﬁaﬁuﬁtmm% | S3va & forg fm iz % 40T
== oo F ITee fRa S e 2

(d) College of Military Engineering, Pune needs to purchase some technical books. The budget under

which grant should be made available to them for the purpose ? (2 sEm/Marks)
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¥4/ Time : 3 %i2/Hours el 3%/ Max. Marks : 100

’ fewforar /Nores :

, 1. wieneff grr 16 weA § @ 12 gvA # s a9 =few |
i & Out of 16 questions, only 12 questions should be attempted by the candidates.

| : 2 WO WA IS HF F € | WN Ak GHA Iy & foy gufem ¥ |
| Each question carries EIGHT marks. FOUR marks are reserved for general excellence.

| 3. WE & et T w1 I U € e R g s e |

: | Answers to all part questions should be written in one place only.

4. W YTt § Fad 9o F FeA i fra s e | IW g § R wed F A 357 w0 Q @9 T |
| Only question number shall be indicated in the Answer Books. Reproduction of complete question in the
| Answer Books should be avoided.

5. W # WHUA ¥ FRUN F AV Sooid fHA S e | SR F G § WiER F1 o69vE Ioo R S
=BT |

Reason must be given in support of the answers. Authority must be quoted in support of the answers.

L (%) T o@n dfaFi & way § 509 1 HEl (EEaR) % fau =mer onl w5 s wE s § s
& WA (37) SN 5N 39 ot % iy ol e o R S A w9 gt T o o g
| fooquft =3 |
' (@) The court orders for attachment of pay in respect of an AO were returned by Admin (Pay) Section of a
. Principal Controllers' Office with the remarks that his pay cannot be attached. Comment.
(2 #FH/Marks)

(@) & yuA Fraawfaas 5 Faia & ' oym ¥ e TE afts deeihE © gEy 1 3 32 F1
sfutfva #37 # forw Tym wifver 1 2 2 a7dte wfve #5682 2
(b) Who is the Competent Authority to impose minor penalty in respect of a Senior Auditor working in ‘M’
Section of a Principal Controllers/Controllers Office ? Who is the Appellate Authority ?
’ (2 31%/Marks )

. (M) e e fawm W uw afte derdeEs T difes w1 g F TE-u 5 9 R e a5 w5 2
. froqoft 7 |

(c) ASeniorAuditor in DAD requested for issue of Certificate of Service verbally. Comment, \

(2 3%/Marks) '

S/45 DAS/14~P-II- e
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(%) wﬁmmﬁuﬁﬁmﬁ@ﬁmwﬁwﬁmﬁwﬂé@mﬂ@ﬁwﬁdﬂﬁﬁ%ﬁwm
72 wd B e/ Frated 9 R 1 feoh

(d) PCDAJ/CDA decides to relax audit temporarily in the matter which concern his own office/subordinate

office. Comment. (2 sFH/Marks)

2. (%) aﬁﬁﬁ’\?ﬁﬁaﬁmﬁ%mﬁﬁmmﬁﬁﬁuﬁnﬁmﬁﬁﬁwmﬁﬁ ?
(a) What are powers of engineering authorities in BRO with regard to issue Technical Sanctions ?
(2 sAF/Marks)

(@) FARa F THIR R 0T W wﬁﬁaﬁmﬁﬁfwaﬁaﬁﬂ-aﬂnﬁ% ?
(b) What are the different items which are paid out of Imprest Account on ACRiInBRO?
(4 3%/Marks)

(m e P i @ T s Preifefe e o @
(¢) Which section of Principal Controllers/Controllers Office deals with following

(i) Ten o favm & seRfers =4 faa
Contingent bills of DAD

(i) fae w form Ty are fael #t erare
Audit of hired transport bills

(i) Tt srE1 3R s (Aem) YT
Payment of sea freight and landing

(iv) =i wfeeron iz 1 2fae 9 am s
Travelling allowance debitable to Annual Training Grant (2 #iH/Marks)

3. (%) mqﬁfwﬁﬁfaﬁwﬁmmﬁqqmﬁwﬁmﬁ-ﬁwa&mﬂﬁ%ﬁﬁmm%aﬁtmgwﬁ
W H | :
(a) Explain the circumstances under which a day can be marked as dies non and its effect.
(3 &F/Marks)

(@) T ¥ o ITE ¢
(b) TrueorFalse:

(i) TR ST ST SeeiT B g wR 1 g fRe el i & QUi W v ST o
Tl FHA ® 40§ e G g IS ¥
Recovery of government servants pay of the whole or of part of any pecuniary l0ss caused tothe
government by negligence or breach of orders is a major penailty.

(i) mﬁﬂaﬁmﬁa(m)aﬁmmﬁmﬂﬁmzﬁmmwéﬁ—mﬁawﬁam
TR VF E DA E |

Stoppage of govemment servant at the efficiency bar in the time scale of pay on the ground of his
unfitness to cross the bar is a minor penalty.

(iii) @mﬁrﬂw-ﬂﬂmﬂmmm% et st A @ g T s T R
Removal of a government servant from service is not a disqualification for future employment
under the govemment.




(iv) &= ® I & B 55 1 |
Withholding of promotion is a minor penalty. (2 %/Marks)

() w4 @ A W T ¥ wd @ kv w il steen wg w1 g € 2 feogolt w5
(c) Can the Original Disciplinary Authority revise or cancel its own order in revision. Comment.

(3 SAF/Marks)

(%) ML % wrafed o T A" Tgar e MfrEl gre #t wn whoedt | s ¥ wiw v @ forg wam
Wit = gd et & faen wneg 23 @ wn o i | feomoft =Y

(@ Anenquiry was being carried out in the office of GE by Income Tax Authorities. The AO GE refused to
give evidence in the enquiry being carried out without the prior permission of the competent authority.

Comment. (2 siH/Marks)

(@) WA F Ve o A9 o T Wi B 2 R T fe ot @ e B € 2
(b) Who is the Competent Authority to withhold or withdraw pension and under what circumstances ?
(3 3f%/Marks)

(M) wum Py § yew TR e gR et ok damet @ watia FE-w g 2 e erdfem # 2
(c) What information relating to assets and liabilities is required to be submitted by every government
servant on first appointment. (3 3{F/Marks)

. () 9RAT AGEA H TR YA R SFRE w1 AW 6 |

(a) Name the four Principal Staff Officers in the Indian Air Force. (2 s=/Marks)

(@) G 9@ Hi 7 ey # 2
(b) What is the period of government accounts ? (2 si®/Marks)

(1) e WeT W Wifadl v o H R g & vt @ fewre | forn s @ 2
(c) The receipts and expenditure of Coast Guard Organisation are accounted to the heads of which
Ministry. - (2 AF/Marks)

(%) T e & fafraiem o ) ®iF dan w5 R 2
(d) Who prepares the Appropriation Accounts of Defence Services ? (2 SH%/Marks)

(F) TF g GIRYA frd wed € 7
(@) What is a cash assignment ? (2 #=/Marks)

(@) smra s i frm o o wege fran o wear # 2
(b) Inwhat form the security deposits can be tendered ? (2 %/Marks)

() fog vEr F o ) e eee-vE s s wiee e g 2
(c) What types of deposits are credited to the head “Treasure Chest Deposits " ? (2 3i%/Marks)

(%) & 7 fraes # 9R 9 @ s g fag o s frae i =i Sfae g9va =g ey wiar #5
et ® ?

(d) How is the expenditure debitable to locally controlled heads incurred by one Controller on behalf of

another Controller dealt with ? (2 s®/Marks)
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7. (%) 39 N % Ioora 1 o fafraem sraren wum Fras/frdss g 31 st #
(a) Mention the stages in which the Appropriation Audit is conducted by Principal Controller/Controller.
(2 #{%H/Marks)

(@) e § Wefua =99 F1 S :1@ 999 wE FawsfaE g fea-fea faget woam i s

ardfema 7 2
(b) What points are required to be observed by the Principal Controller/Controller while conducting the
audit of expenditure against allotment ? (2 3F/Marks)

(M) o BN FAFEGY F 30T @ W HFREE FH T W A@ H s g S 9 a6l 99 (W) wrangda

1 IR 7
(c) What is purpose of the scale audit conducted by PCDA dealing with the pay accounts of Army
Officers ? (4 7F/Marks)

8 (%) A U & AR THER R Freed ¥ S e Tat T fAfd @ anea: S gR R S Al Y # YR
F1 350r@ F | A YA 7§ S H9E WEEE H v6 & S 2 2
(@) Mention the types of payments that are generally made by the Commanding Officer of Naval Ships out
of the funds placed at their disposal ? Are these payments subject to pre-audit or post audit ?
(4 37=%/Marks)

(@) frefefas =i fafaee ord % aift w § wefvl fean T 2 | 99 % foan o9 7 7
(b) Following are exhibited in the losses column of Appropriation Account. True or False ?

(i) <& eren fasm IR SrErde faum & Y6 g0 992 @ I T SRaHevig (FEman) e
F Hau o Bt 7 sty |
Objection waived on a/c of irrevocable accounts etc. written off by officer of Defence Accounts
Department and Audit Department of Defence Services.

(i) wr-FEE F w0 g VS e w1 fafratia fmm
Losses of cash due to enemy action regularised.

(iii) @afem wivewR & 97 si" gd= v (SN Tl ) # Y |
Payment of pending enquiry award under proper authority.

(iv) S uftees Qeid g/ a9 (912) W FH IR U WER & Hay ¥ gl #5992 @ Sl T |
Losses written off in respect of store short landed at port by shipping agents.
(4 sF/Marks)

9. (%) Frefafaa & forg oFean wream % gr wfeanfem fFe o a9 A= 1 (F9)) #1 oo+
(@) Mention the class of voucher to be operated through punching medium for the following :

(i) sfam wfafe
Transferentry

(i) wfe it 9o’ #1 |
Abstract of receipt and charges




10.

11.

(iii) wg o

Cash account

(iv) wiva faa
MES bills (2 31H/Marks)

(@) Wﬁﬁ%aﬁﬁ%wﬁ%ﬁahﬁwﬁﬁ%aﬁyﬁﬁm%wm%?

®)

(m
©

(%)

@

(%)
@

(=)
(®)

(m

©

(™
@

(%)

@

(@)

®)

Under whose powers re-appropriation between different minor heads under a major head can be carried
out. (2 st=/Marks)

ST ST Y W ST 1 w2
What do you understand by the term Provisional Payments ? (2 sA®/Marks)

e A B 39 SV S AU S R SR e e S wen € i e aere i e S A
T w1 e B

Can provisional payment be made on an undertaking by the individual that he will refund the amount if
required to do so ? (2 stF/Marks)

&@ § it F qEd e wH-EE 9 E 2

What are the main units of classification in accounts ? (2 sH/Marks)

o faea v (Fedes T) i 353¥A (SR) apftaTon 1 Ha w4 & S 2
Why is a ‘detailed head’, termed as an object classification ? (2 sAFH/Marks)

TR & a e i Fa Ao wt T S i FeR A gu g # fasmirasr | waivm st e
T4 H Yoy g3 a1 ?

In which year the exercise relating to departmentalisation of accounts covering all Ministries and
Departments of Union Government and all Union Territories was started. (2 3¥&H/Marks)

T W TR % e o (fedier) sR-RA R E 2

What are the main divisions of accounts in government ? (2 3AF/Marks)

SraTodE M T N SR T T qare St e SR S ® yeretn w9 @ ) Er
T FEET T THAE ?

What is the primary function of audit & can an audit officer interfere with the administrative applicability
of rules and order ? (2 HFFH/Marks)

A THR GR T8 Iy e man on ff 9 % S sy =) feredt § fean s, faeg o e
3 e Yo ] ST i 9T SsaraE fia R SuE we F e e ® W R S | 3 T8 49
Hferacor s U fva § I € 2
It was published by GO that the amear of pension will be paid in two instalments but a pensioner represented
to DPDO to release his arrear in single instalment. Can DPDO make payment in one instalment ?

(2 sTF/Marks)
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() w0 o frafa d faw el 3 w@ieR fma o www @ watE s faa W oseme w0 @ fog
wiftpa sifuerrd & smer 76 € |

() Can aregular pay bill be admitted in audit when it does not bear the signature of the officer authorised
to sign the bill ? (2 #1%/Marks)

(%) siftafion grrgeem i Freifa w03 9 forg 1 =1 @i =1 et <ot S g @ SRR = # e
2/1956 & SR fasm sik g @ wHa @ ww w o= weg Iude T8 @ 2
(d) What will be the Date of Birth for determining the superannuation, when the date of birth as per service
book is 2/1956 and no other proof is available with the department as well as with employee ?

(2 sTH/Marks)
(F) T wics e frd Fed € oik 38 wign 0 & g s gem 2 7
(@) What is a Field Imprest and who is competent to sanction it ? (2 H=/Marks)
(@) o 3 wor-v3 | fora =) Fi Z9iar s 2
(b) What details are shown in the LPC ? (3 SAF/Marks)
(M) eRereRT fRTET SR ST YR TiE T I # 2
(¢) What s the purpose of Technical Training and Instructional Equipment Grant ? (3 sT%/Marks)

(%) forw ¥ o smfva =m0 #:t sfvea/sn sy 3 <iea = 39 =1 vl § whads & ©9 9 98 7
S ?

(@) Uptowhat limit the acceptance of supplies in excess/short of the quantity ordered will not be held to

be modification in the conditions of the contract ? (2 sAF/Marks)

(Tr) v forar o 3 1 s7afy ot ot § sifuss € st @ o Prwe wief srife Bt & 2
(b) Whose sanction is required when the period of contract including extension exceeds three years ?
(2 3%/Marks)

(M) foa sfifefs o o s & gu frr M Sw v e s 2 2

(¢) Inwhich situation a contract with minor becomes valid ? (2 s¥=/Marks)

(%) S wml g svifi sqfi oiR Fane @ fe srermfe R T # o 2 Al = SedrE w1 |
(d) Mention two conditions for entering into Short Term Agreement for supplies and services required by
Military Farms ? (2 s%/Marks )

. (%) "o % SR ?

(@ What is the purpose of “Vote on Account” ? (2 sFH/Marks)

(@) m‘aﬁuﬁuﬁmwﬁw@ﬁmﬂaﬁuﬁwﬁaaﬁfémﬂémé@mﬁt;ﬁia%ﬁrqﬁfaﬁaﬁaaaaﬂ
T e i =6t wiefEfsa fea | feoft 1

(b) Central Controlling Authority re-appropriated savings of funds to locally controlled head to meet the

expenditure on a new service not included in the budget. Comment. (2 sF/Marks)
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(1) oo F U I B gR T 10,000/~ Y AN F HER TH IHAR F 9 fown T o1, Sifs sreget 9
2 T ® | w qE eR Al € HYE S & e § 2

(¢) Storesworth Rs. 10,000/- were issued by an Army unitto a contractor, which have become irrecoverable.

Is it loss of stores or loss of public money ? (2 SAH/Marks )

(%) freifafen wify e @ way § wia fufor s 69 2 2
(d) Who is the pricing authority in respect of following loss statement ?

(i) sTqu/frdem sk w2, fegell § Hafun gy, TR ik T, HeR
Ordnance, clothing and M.T. stores relating to Ordnance/Inspection and M.T. depots

(i) smfd (e 9 fea, fafram wer wa-feged qen wyfafermm ¥R ar= gfFel @ Hatua gy,
FEWE AR A WeR
Ordnance, clothing and M.T. stores relating to Supply (ASC) Base Depot, Medical Store, Sub-
Depots, Medical Stores and Veterinary and other units. (2 ®H/Marks)

15, (%) Yow (F1W) oIk AMa & &= S H = ?
(a) Distinguish between fee and honorarium ? (4 3TH/Marks)

(@) F T WS | T S F A B @ 2 2
(b) Whether it is correct to call for security deposit from Govt. Organisations ? (2 #HFH/Marks)

(M) T Eigl Fa wEE () B € 2

(c) When does a sanction lapse ? (2 ¥=/Marks)

16, (%) a9 sTifE (WrEtETEe) fafree & #ar o T € 2
(a) What do you mean by modified appropriation ? (3 si&/Marks)

(=) mﬁmfﬂmfmmwﬁhﬁﬁmm%mﬁqmﬁﬁﬁwﬁmwfmﬁﬁaﬁmm

22
(b) How the Defence Accounts Department helps the executive authorities in control of expenditure under
locally controlled heads ? (3 AF/Marks)

(1) et vhn @ g S A = W P e # fag B s € 2

(© Who is responsible to watch expenditure against allotment ? (2 3T%/Marks)




& aaT fawmr 2070
. DEFENCE ACCOUNTS DEPARTMENT

T TET VAT (TE. U, UH, ) GHET—u |
S.A.S. EXAMINATION—PART |

famat/September, 2014

faww : yva ux Il—emrfaty
SUBJECT : PAPER Il —ACCOUNTANCY

-\ 79/ Time : 3 %2/Hours o A%/ Max. Marks * 150

fewforar /Nores :

;_ J . 3T gr Faet 6 9 g < AR | 1 TvT W1 W, 4 H 2 WF G| B AW S H A 3 5ve NE:-AR
| T Y T 1 991 9-11| F 9 TE 6 sifvard # |
Only 6 questions should be attempted by the candidates. 1 from Section-1, 2 from Section-Il out of 4 and 3
from Section-Ill out of 5. Question No. 1 of Section-I and Question No. 6 of Section-lll are COMPULSORY

o

ST-| 1Y 1 40 STH F B | -1 H FEF T 25 FF F1E | G-l FOTEF T 20 FF F L
Question 1 in Section-I carries 40 marks. Each question in Section-Il carries 25 marks. Each question n
Section-Ill carries 20 marks.

3. 9 & Tl 9T I U @ ruE W fag s =
Answers to all parts of question should be written in one place only.

4. N 1 SeerE wqfEd ¥9 9 fE s =few |

Indication of Section should appropriately be made.

wrT-| ( sifard )
Section-l (Compulsory)

I ot TS wt wfedl | SHRa I @ SEvaE QISR F0 g A, SR R 391 €1 G A7 3132014
F1 feufd # STOR & ToF-7F TR #+
From the following balances extracted from the books of Mr. Accountant prepare the Trial Balance, Trading
and Profit and Loss Account and a Balance Sheet as on 31-3-2014 after making necessary adjustments :

U] @
@ 3,00,000

Capital
HTETIT 14 (K
. Drawings

1-4-2013 1 =T1F 220,000
Stock on 1-4-2013

"\ faavur/Particulars 9 71191 ( w94 )/Amount (Rs.)

E1i 2,800,000
Purchases

S/45 DAS/14-P-llI-1




| 2 1
™ @

fora | 460,000
Sales
e fae 30,000
Bill Receivable
%7 faet 40,000
Bills Payable
It SR 5,000
Returns Inwards

h Bk ifcicea 4,500
Returns Outwards
AR Y 1,00,000
Plant and Machinery
Tefad 25,000
Goodwill
Hug R 20,000
Loose Tools
s T A 3,000
Cash in Hand
g % A 10,000
Cash at Bank
R 75000
Furniture
fafay 3_R 1,25 000
Sundry Debtors

I ferfaer SRR 1,30,000

4 Sundry Creditors

FHIYA Hie2 28,000

Commission Cr.




) @

aa 11,000
Salaries
Aot 17,000
Wages
Fafera = ' 3,500
Office Expenses
Eit)] 5,000
Insurance
famms (3 =t = fe) 9,000
Advertisement (For 3 years)
HHTY =9 4,000
General Expenses
wa 6,000
Factory Rent
HHTATS ;@
Adjustments :

(i) o7 W 1 e iH1 T4 1,20,000 T far T o ik o) 567 ¥92 1,35,000 % |

(i)

Ciii)

(iv)

(v)

(i)

(vii)

Closing Stock was valued at Rs. 1,20,000 and the market value is Rs. 1,35,000.

T SR AN 1 qed o1 W 5% F 3 W 3R AT IR 15% F WD |
Depreciation on Plant & Machinery by 5% and Loose Tools by 15% p.a.

FHMA ST T 1,000 3R FrEEE =79 T 500 |
Outstanding Salaries Rs. 1,000 and Office Expenses Rs. 500.

A F9F 1,000 JEE
Insurance Rs. 1,000 prepaid.

T 3,000 F FHYH 09 T G W 5T A |

Commission of Rs. 3,000 were received in advance.

9 9 31-3-2014 F TR T FTF 5,000 F FAR Gfmfem 9 1
Purchase included Rs. 5,000 purchases of furniture on 31-3-2014.

HIERTZ HU H WA IR W 5% F I fHan 9 # ik B 2Rt sveien w0 w1 ge w9 8,000 fEAr
T

Provision for doubtful debts to be made @ 5% on Debtors and bad debts created during the year
Rs. 8,000.




4
| (Vi) T 9,000 T % W1 ST H T 7 T SR AT T A @ B w9 F B0 599 4,000 SreEw = |

| . Goods worth Rs. 9,000 were destroyed by fire and the insurance company accepted only Rs. 4,000
‘ towards the claim.

|

|

|

(ix) 99 1,500 523 % A1 F1 6 794 & €9 4 faard fea m o |
Goods worth Rs. 1,500 were distributed as free samples.

(x) Wl H Ha% 3R TG FT T 87 99 3,000 Wt €
Wages included Rs. 3,000 towards installation of Plant & Machinery. (40 3TF/Marks)

- || —F e eRToT
Section-ll—Costing

2 (#F) ﬁaﬁaé@ﬁnmﬁ@ﬁ%éﬁﬁaw@ﬁ%wm%‘?Eﬂaaaﬁmmm%qm%mm

] g2
(a) What are the reasons for disagreement between financial accounts and cost account ? How are these
differences reconciled ? (8 37F/Marks)

(@) s (wfsiter) At 1 #0574 @ 2 7 a9E (6 ©9 F yauT 3 qera o aed § 2
(b) What is meant by marginal costing ? In what ways the technique can help management ?
(7 si%/Marks)

(M) MRS STt F=fet § S W B 2 0 T & Wy H 3veres frafafea gEeist € wwei sk
Tt =1 fufer w1 it w! gor nfordra wet (sre) @ w5
(c) What do you understand by Economic Order Quantity ? From the following information available in
respect of a firm, determine the EOQ and compare the same with the mathematical approach :

‘ () g5 (3=) vl wfaas — 12,000 3

Inventory requirement per year— 12,000 units

(i) wf Aqf7e @ (FE0 sin sEfn e § fa=) — 5/
Cost per unit (other than carrying and ordering costs) — Rs. 5/-

(i) e = wfre ufs wd - w9 /-
Carrying costs per item for one year - Rs. 1/-

e ——

(V) Y=IF EF TH F ARE — T 60/~
Cost of placing each order - Rs. 60/-

RS

TS (SEAZ ) ATE WEH (2D — 12,000, 6,000, 3,000, 1,200 3R 600
Alternate order size (units) — 12,000, 6,000, 3,000, 1,200 & 600 (10 3A%/Marks)

, 3 (F) WG PEE R (29) TR SR T R (0 @) gmfy A
() Describe the Time Rate System and Piece Rate System of wage payment. (10 #A*/Marks)

(@) 5% g3 Uit 3T o 99 e F A0 wE | 3 sEe FRY WER R s S 2
(b) Describe Break Even Analysis and Break Even Point. How is it calculated ? (5 sF/Marks)
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(M) & T & He F o) Frefatan g v w9

(c) You are given the following information in respect of a company :

e T4 — 2012 Tt — 2013
Particulars Year-2012 Year—2013
g 5,00,000 7,50 000
Sales
SILiGE 4.25,000 5,80,000
Cost

A9 AR A FT fiqa &

You are required to calculate :

(i) =r/argm srqm (diret) e
Profit/Volume Ratio (P/V) Ratio

(i) -39 @z (Ffiq)

Break-Even Point (B.E.P))
(iii) S A (HERrSs) T 9 320,000 §, 6 ST faa 1 o W |

Caiculate the estimated sales when the forecasted profit is Rs. 3,20,000.

4. (F) = HT .
(@) Explain:

(i) 91 @

Opportunity Cost

(i) &E srErate
Cost Audit

(iii)  weft w2y =x

Machine Hour Rate

(@) mm(wﬁnm)ﬁqﬁ@f

(b) What are the significant features of Proce

(M) T W 92 F1 & 3w = wFEw w5 §
AT | qoRa & | o W ® AR v |
(c) ABC Paint Company processes a
transfer to the finished

(3 +3+4 =10 5F/Marks)

(3 +3 + 3 =9 37F/Marks)

fasroa #- 2 ? 9 90 F sui % for 7w w9 § 2

ss Costing ? Which kind of industries it is suitable for?

(4 SFF/Marks)

'{Uigﬁaﬂiﬁmmmﬁmmﬁammﬁﬁqﬁ?ﬁv

product which passes through 3 processes before completion and

goods stock. During the month of April, the data relating to product were as

follows :

famo i | wfsar 1l el Rt
Particulars Process | Process || Process IlI Total

e el 9yt 9 6,000 ¥97 6,000
(10,000 Ff=)

Basic Raw Materials Rs. 6,000 Rs. 6,000

(10,000 units)




faaro wfsrar | il el an
Particulars Process | Process Il Process I Total

g & wfsfem T 8,500 94 9,500 99 5,500 99 23,500
H T TAY FeAl

Bl

Direct Raw Material Rs. 8,500 Rs. 9,500 Rs. 5,500 Rs. 23,500
added in Process

oA Hogd FIF 4,000 T 6,000 99 12,000 FT 22,000
Direct Wages Rs. 4,000 Rs. 6,000 Rs. 12,000 Rs. 22,000
¥y =Y 94 1,200 T 930 T 1,340 9 3,470
Direct Expenses Rs. 1,200 Rs. 930 Rs. 1,340 Rs. 3,470
IMEA IUEEg ¥4 16,500
Production Overhead Rs. 16,500
3R (=) TG 9,200 94 8,700 TG 7,900

Output (Units) Rs. 9,200 Rs. 8,700 Rs. 7,900

faw = wfern 10 5 10

|Er= #f (wfaem)

Normal loss in process 10 5 10

of input (Percent)

ufg gf= srafrs 20 50 I

(whY) qe3 Bt

Scrap value loss .20 .50 1

per unit

(1)

(i)

5. (&)

@)

I U TN Al & SV # 9 6 gemiad () 3
The production overhead is absorbed as a percentage of direct wages.
fFel fi s & W R A A w6 == T & |

There is no stock at the start or the end of any process.

ST ST9ET FT ST E R 9 9T |, 1, |1 SR SR ST B sTEem N o SR w5 |
You are required to prepare Process |, I, Il accounts and Abnormal Loss/Abnormal Profit accounts.
(12 sAF/Marks)

frefafes wmomst | a9 F0 w9 § o) 7 f9= fa= sem § oma 90 #1 feg 9o R yaifas 5§ 7
e TR # WY T |

What do you understand by the following concepts and how do they affect the cost strucutures in
different industries ? Explain with suitable examples.

() TF.AFETF A, IR U TE A, vgfa
FIFO and LIFO methods

(iiy feer T @R ftad (Afteae) e
Fixed Costs and Variable Costs

(iii) T, favemm
ABC Analysis
(v) AT (fr-omeh) =Rz iR gw =
Re-order Point and Safety Stock (4+4+4+4=16 sF/Marks)
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(@) sfiftges T=gmaafan fafaee = urg = fasm ¥ frs sea faamil & &9 F 9 s & | S fased 3 anal

1 ¥ fawrtl =1 faaeor & 29 et A’ 1 SwE w39 g, faafa fem s | st o | v fasm

BN F1 S Al el SURead (SR B8) O F W (wfene) frefated yER S € | o @
aifia simel F1 t werw fawm ® W zvi R

(b) Oriental Manufacturing Ltd. has three departments which are regarded as production departments.

Service Department's costs are distributed to these production departments using the “Step Ladder

Method" of distribution. Estimates of factory overhead costs to be incurred by each department in the

forthcoming year are as follows. Data required for distribution is also shown against each department.

fasm BT Iy JIY 9H- Fe=E #=t e §
(¥T) 52 e o

Department Factory Over- Directlabours—  No. of employees Areain Sq. mtrs.
head (Rs.) hours

-

Production

T 1,93 ,000 4,000 100 3,000

X

g 64,000 3,000 125 1,500

b

s 83,000 4,000 85 1,500

Z

T

Service

ot 45,000 1,000 10 500

P

] 75,000 5,000 50 1,500

Q .

AR 1,035,000 6,000 40 : 1,000

R

H 30,000 3,000 50 1,000

S

=R T fasrm 51 suftega el S5 w9 o i e @, 9, SR R v, | faafa e o
The overhead costs of the four service departments are distributed in the same order, namely, P, Q, R and S

respectively :
farsm U
Departments Basis

e 2
Number of employes
JAG FH-HE

Direct labours-hours

AR WX | ufean

Area in Square metres

Jge gq-H2
Direct labours-hours




g andfe ® fF e

You are required to :

(F) =R "a fawmil %1 39ftera armt 1 6= e fasei J famo 1 z29fd gu v g d9r w1 o

(@) Prepare a schedule showing the distribution of overhead costs of the four service departments to the
three production departments and

(@) v 19 scaea favmt & fow wfa weaw s =2 sufea aget 1 3o 1 |
(b) Calculate the overhead recovery rate per direct labour-hour for each of the three production departments.
(9 37F/Marks)

wrr-1I (W.H. 6 dgifam—stfmard )

Section-lll (Q.No. 6 Theoretical-Compulsory)

6. () TF SR TH KA F o] FN A € | I5F g FEA-FEa st ®1 w5qd fre 9 # s #5 Se

2 R fEd 2
(a) Abusiness man wants to float a company. What documents are supposed to be submitted by him and
towhom ? (6 FAF/Marks)

(@) it 3R WEAE HI F = 0 HAR T | 0F WA fafade s ® w7 faviwfusn (ffaesn) # 2
(b) What s the difference between Public and Private Company ? What are the privileges of a private Ltd.
Company ? (6 JF/Marks)
(1) TR 9 (gt YR) Rl wed € o vermE # favmifuen (fafaes) fawtn v wmE ® Ty o

fFg yER = em € 2

(c) What are Equity Shares and how do the privileges of the shareholders differ with respect to preference
share holders. (8 SAF/Marks)
7. (F) AT 399 (TOIW) o F sfaa w1 Ama g freafafen Ifeat w guma # fog sie wfafes 51+ .

(a) Pass journal entries to rectify the following errors assuming the existence of necessary Suspense
Account :

(i) |A91 9 F99 5,500 F S0 F @3 T WS F 39 7@ F He2 9 ¥99 5,000 F w9 § 7 fFa
T

Goods bought from Sumesh amounting to Rs, 5,500 was posted to the credit of his account as
Rs. 5,000

(i) Toa =& #1¥99 1,000 8 7R F2 fma ma o |
Sales book was overcast by Rs. 1,000.

(i) %3 & F TF T F AN F FA TS ° AUAA (F FRAS) F@ 99T T 1,235 F e F:
94 1,325 % &9 H fopen wa o |

While carrying forward the total of one page of purchases book to the next, the amount of
Rs. 1,235 was written as Rs. 1,325.

(iv) TFasafsia meit e R e e 780 % 98 # o g8 (PR ) oan #i 2fa fEa T
o1 |
Cartage Rs. 780 paid on Machinery newly acquired was debited to Carriage Inward Account.

(v) %94 3,100 1 401 358 F1 F4 AT F1 F7 a7t § stfafefan 78 v man on feg oo 2 fag
g w5d % o 1 fafuad Sfae e o
Purchases return to Shravan Bros. Rs. 3,100 were not recorded in purchases returns book but
the account of Shravan Bros. was duly debited forthe amount.

(Vi) ¥99 300 F1 T F HIA F R0 & o@-aed 9 Afufafes 7€ fam man a1
Drawing of goods costing Rs. 300 were not recorded in the Books of Account.
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(vii) T99 670 F W =3l H Ishg wE @ AT R § T 760 F w9 F sfsfefad e T o |

Painting expenses Rs. 670 were posted from cash book to nominal account as Rs. 760.

(viit) %t <ifera 1 ST o T T 8,250 A St I B w5470 B w9 § fa o T oan |
Rs. 8,250 being cash paid to Mr. Dixit was debited to Mr. Sham as Rs. 5,470.

39 e (TR TEEE) st daR
Also prepare Suspense Account. (8 +2 =10 31w/ Marks)

(@) % T faaeer § 9 F0 gHe € 2 99 g SR U6 96 F A S A S, 35 F g

e = ?
(b) What do you understand by bank reconciliation statement ? What are the reasons for difference
between pass book and cash book, explain through examples ? (10 #FF/Marks)
2 & (%) T Fo Q Haie Frafafaa foel @ = 2013 # fog 9= @ &8 o =t wom (Fg) = -
(@ Compute the income from Subscription for the year 2013 from the following particulars relating to a
club.
feazor 1-1-2013 31-12-2013
Details (&) (F)
1-1-2013 31-12-2013
(Rs.) (Rs.)
THET HG 9,500 7,000
Outstanding Subscription
sfm == 2,800 5200
Advance Subscription
79 2013 B A WG 5 — T 48,900 .
Subscription received during the year 2013 - Rs. 48,900 ; (5 HAF/Mark)

(@) fadt 7o 1 31 9, 2013 1 wera a4  fog Frefafen om st s o sit qom o foar o @ | s s
Tt it # fof 9 o 1 W ot @ fo o Wit iR sy S faR R |
(b) The following Income and Expenditure Account and Balance Sheet of City Club are given for the year

ended on 31st March, 2013. You are required to prepare a Receipts and Payments Account of the Club
forthe related period.

T2t 7@ &1 31-3-2013 i wara =8 & fou o oIk =79 o
Income and Expenditure Account for the year ended 31-3-2013 of City Club

=g et e PRty

Expenditure (T92) (¥7d
Amount Income Amount
(Rs.) (Rs.)

wmfyat @ anfE = = 5,000 EC) 25,000

To opening Stock of By Subscriptions

Provisions

wmiEl # el 5 40,000 TA A 35,000

To Purchase of Provisions By Donations

S/45 DAS/14-P-l1I-2




= LRt A LELUR
Expenditure (F9%) (72
Amount Income Amount
Rs.) Rs.)
Fa =l 10,000 WAV HIE § 5,000
To Salaries By Entrance Fees
THT 559 F 3,000 wMiE % fasa g 35,000
To General Expenses By Sale of Provisions
RO UEH oRET we 4,000 i & e 10,000
To Printing and Stationery By Closing Stock of
Provisions
ST & qoIeE H 1,500
To Depriciation of Equipment _
=g | A9 F e 46,500
To Excess of Income over
Expenditure
Rl 1,10,000 I 1,10,000
Total Total

31-3-2013 =1 feerfy & s1em fodt oo 1 ge-w
Balance Sheet of City Club as on 31-3-2013

31-3-2012 gAY (¥9%) 31-3-2012 ufeaeafaar (¥9)
(¥93) (T9)
31-3-2012 Liabilities (Rs.) 31-3-2012 Assets (Rs.)
(Rs.) (Rs.)
8,000 amfiEt % feg 10,000 10,000 Sy [erEdfen (feg 15,000
TRR IH) Hed]
Creditors forthe Equipment [(Written
I_ Provisions down value)]
' 35,000 amr= fafy 81,500 5,000 Eippifcaksic 10,000
\ General Fund Stock of Provisions
23,000 TFSTIH AR IFH 46,500
l Cash in Hand and at
Bank
| .
5,000 S Frg ey 20,000
| Subscription
- Receivable
43 000 91,500 43 000 91,500
(15 31®/Marks)

9. (%) feert sfcamafeal e o qegm w1 YEME w6 F1 01 3399 © 2 YousE i = vghial 5 A 5
(a) Whatis the object of making provision for depreciation in respect of fixed assets ? Describe the various
methods of depreciation. (8 SF/Marks)
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(&) wue 2o+ T | a1ie, 2010ﬁw&3,70,0mﬁ®3ﬁwﬂﬂﬁaﬁaﬂnﬁaﬂtsﬁmjo,mm

® |

HT AT B i e fear | HIER, 2011 321 793 100,000 #t @& 371 wefs @tz ot sify | TFIR,
2012 1 & 2010 ¥ @ T Wity 1 v 2,80,000 ¥ = fem 131#3713@#13%#%3@2,50.(“}3#@
W B | 1 SRR, 2012 % wod 1,m,oooa%@ﬂﬁﬂ§{aﬂwﬂaﬁ%ﬁ3qﬁznmmﬂ‘éaﬁm | g
¥ =9 31 A1 Y g T w IO%RﬁHﬁﬂ?ﬁ?WWWWMWWIﬁEUII—D 9 Joamr

fetie 1 e, 2010 9 31 w1, 2014 37 7Y & forg Wit o s |
Give the Machinery account for the period from 1st April, 2010 to 31st March, 2014,

(12 SH/Marks )

Mr. Ramesh owns a general store in Delhi and does not maintain his accounts on double entry
System. His assets and liabilities on 1st April, 2011 were as follows :

T 4 faet — w93 20,000
Bill Payable - Rs. 20,000

TR — F99 33,100
Creditors - Rs. 33,100

VF — 99 1,20,000
Stock - Rs. 1,20,000
TRR — T 66,000
Debtors - Rs. 66,000

T 9 F S FF A — 3 67,100 IR
Cash in hand and at Bank - Rs. 67,100 and

W — 9 1,50,000
Machine - Rs. 1,50,000

& 31 7, 2012 ﬁfmﬁ%maﬁaﬁﬁwﬁrﬁﬂrﬁf@a ot

His position as on 31st March, 2012 was as follows :

AU — ¥97 1,50,000
Machine - Rs. 1,50,000

R — T 93 200
Debtors - Rs, 93,200
— ¥4 120,000
Motorcycle - Rs. 1,20,000
TFE T — ¥ 30,000
Cash in Hand -Rs. 30,000
T qF F STTER 5% W9 — 59 300
Bank Balance as per Pass Book - Rs. 59,300
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VIH — T 1,34,000 3R

Stock — Rs. 1,34,000 and

T_R — ¥9F 87,000

Creditors —Rs. 87,000
a8 & SNA Mo sEvawde ® g SR T 45,000 F SO R SR AR ® ITEm F fou v
120,000 ! TF WewERlFd @€ | | 7, 2012 § 96 T T 9 7,000 F TH 9% H 31 AE, 2012 TF
o | wega T T
During the year he withdrew Rs. 45,000 for house hold requirements and a motorcycle was purchased

for Rs. 1,20,000 for business use. A cheque for Rs. 7,000 issued in 1st March, 2012 was not presented
to bank upto 31st March, 2012

frefefed TamEsT ¢

The following are the adjustments :

(i) oTvied w0 & €9 4 T 4,000 F 922 @ o AR T9 §Y IRR W 5% I X H H@WR B0 H
rEHE FH |
Write off Rs. 4,000 as Bad Debts and make a provision for Doubtful Debts @ 5% on the remaining
Debtors.

(i) e W 8% wfa w4 w A ¥ Fyl YA 1 WEuE w1 SR AiewEnfee W 10% 91 a6 F# W E
BIEHM Y 9gfd W 9@y #:X |

Provide for full Depreciation on Machine at 8% p.a. and on Motorcycle at 10% p.a. on Diminishing
Balance Method.

feai 31 7, 2012 1 feufa & orER fae o &1 swer #HL |
Calculate the net profit as on 31st March, 2012. (10 31&H/Marks)
(@)(i) oI B 3 FHA-FH A wHR 2 Forew swan s w9 9 faxdta favewm & fag oF wem & w9 9 fEa
S ? 3% AW warg 2
() ) What are the various types of Ratios which are widely used as a tool for financial analysis ? Name
them ? (5 #1H/Marks)

(i) FreAfafe e @ suR R = wResfad, ] daaed, ©F R fawa #1 smfa w1
Based on the following information calculate Current Assets, Current Liabilities, Stock and Sales.

(%) =] I — 2.5
(@ CurrentRatio—-2.5

(@) @fa (fa®) Jq9| — 1.5
(b) Quick Ratio—1.5
() faae (A=) Fmt gt — 3,00,000
(c) Net Working Capital—3,00,000
(%) W TR IR =R T 8

(d) Stock turnover Ratio is 4 times

(&) HHel o1 20% ¢
(e) Gross profit is 20% . (5 3%/ Marks)
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<« DEFENCE ACCOUNTS DEPARTMENT
areftreer SraT ¥ (TE. U, TH. ) wen—wm | 2031

S.A.S. EXAMINATION—PART |
faamat/September, 2014

fawa : wyw ux IV—ar fafewrast

( SERTREH—Eeh! @t FEraar ¥ )
SUBJECT : PAPER IV —Service Regulations
(PRACTICAL—WITH BOOKS)

Tga/Time : 3 52/Hours sifirmam 31F/Max. Marks : 100
feaforar /Nores :

. Wt svsafedal # fag -1 s sy-1) aifrard € | a1 F steff su-sm- (%), (@), (1) seE (7) | A &
1 9T T I B L fows o sl e g
. Section-1 and Section-Il are compulsory for all candidates. In Section-Ill, candidates may opt and attempt
any one from Sub-Section-(A), (B), (C) OR (D) for which permission is granted.

2. s-1l1 & 39-9m | fRg T e w1 SR e S gfee ¥ foran s =iy satE ge-| agn am-l| & 3 S
T I i W feen s afeg |

Answers to questions under Sub-Sections of Section-Ill should be written in separate answer book while
answer to Section- and Section-Il shall be written in one answer book only.

3. % fremeR syvafedal gra 11 we i ee B R | -1 H 6 9 H W 4 9, 9-1 | S e 9 3 e ek -l
F6uw HH 4 qw A
In all, candidates are fo attempt 11 questions. 4 questions out of 6 questions from Section-I, 3 questions
out of 5 questions from Section-Il and 4 questions out of 6 questions from Section-ill.

4, ST-| ¥ T YT 9 B B B R G-I VEF A8 FAF HE | -1 W AEF I 10 SRR
Each question in Section-l carries 9 marks and that of each question of Section-Il, it is 8 marks. In
Section-lll, each question carries 10 marks.

5. W & wHUA A FRON F o79vF & R e =Afen | S P e ¥ wfuwn 6 sy € sgya w5 = |
Reasons must be given in support of the answers. Authority must be quoted in support of the answers.

6. T ® Ol WEl F1 IW Faw ©F & w@E W) s =fEe

Answer to all part questions should be written in one place only.

7. WM/3Y-9T F1 Ieer@ wHfaa Ofa § fen s afew

Indication of Section/Sub-Section shall appropriately be made.

|
SECTION |

[ &a= iR ww (fafaw) ]
[Pay & Allowances (Civil)]

(|t = few)
(Common to All)

L (%) ¥ uF fasiig 99 & 7 o T ga’ W feg W aea 2 e o @ forg anfie awe ¥ wfmfem T8

1 s

fFme ?
(@ Whether expenditure on a “New Service" can be incurred during a financial year not comtemplated in
the Annual Budget for the year ? (3 s{+/Marks)

$/45 DAS/14-P-IV-1A
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®)

()
©

2 (%)

fa)

(@)

(®)

(m

©

(%)

@

3 (%)

2

hm%m@m%muﬁﬂmﬂwm—w%mmh%ﬁa%aﬁm

firq Y TR § T 25,750/~ F ARG & A H B H | 71 7% Tg FramER € ?
A Central Govt. department purchased goods costing Rs. 25,750/- across the counter without inviting
quotations or bids on the basis of a cetificate issued by the competent authority. Is this purchase in

order ? (3 A=/Marks)

2 et Yo’ @ 1 & 2 R SR ) i @ fefe 3@ womelt @ sTqarer fa o @ 2
What is meant by ‘two bid system’ ? For what kind of purchases this system is followed ?
(3 3¥®/Marks)

ﬁnqﬁﬁuﬁﬁfﬂmmm/—%ﬁs&mmmﬁmmﬁummmm@ﬁ
e SN @ Z AT w WO R 2

Under what circumstance is a Central Gowvt. Officer drawing a Grade Pay of Rs. 7,600/- eligible to travel
by Executive Class in Shatabdi Trains ? (2 s®H/Marks)

wﬁmm%maﬁmqmmmﬁwia-wwmﬁmmﬁ%mﬁmm
sroft ¥ g Y Gl € 2 ok v € A frae wigf et et ?

Can a Govt. servant accompanying a foreign delegation on a journey by rail travel in a higher class of
accommodation than that to which he is normally entitied ? if so, whose sanction is required ?
(2 3f&/Marks)

& Tl T, Fee e R § 3w e € T o, F1 v 9RER T ST O S
T | THH @ AR A 1 T | qefy 7o @ fasm 3 9RER § e fE & wd 1 A 9 = F
feouit X |

The body of a public servant who died while on tour in India was brought to his home town by a
commercial flight according to the wishes of the family. However, the Department of the deceased
asked the family to bear the expenditure by themselves. Please comment. (3 3FH/Marks)

@mmﬁmaﬁmmmm@mmﬁmﬂ w1 R # foae #
o & F U A 1 < YR fE @ | gaeht i o fet w0

An Officer who was invited to attend a social function by the President has submitted a TA claim for the
journey undertaken to attend the function. Please comment on its admissibility. (2 sA%/Marks)

wwwmmﬁmﬁmﬁ%mﬁﬁwmaﬂmm% 2 5% i, 7 e vl
2 ot ok g2 H T fra o e i fe o v @ 2

(@) Whether a Male Govt. servant can be sanctioned Paternity Leave for Child Adoption. If so, on what

conditions and what is the quantum of leave that can be sanctioned ? (2 =®/Marks)

(ﬁ)Wmmﬁ,ﬁﬁ@ﬁﬁzsﬁ?’fﬁﬁuﬁa@ﬁﬁ?,#@wm%maﬁﬁw#

T W FE B ey svees e | g feerht & R T FreeeR € 2

(b) A Govt. Servant with a balance of 25 days of Earned Leave has applied for grant of encashment of

Earned Leave along with LTC. Please comment if it is in order ? (2 FF/Marks)
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(1) wﬁ'amﬁ@ﬂwmaﬁﬂmmaﬁtﬁ@faﬁmﬁm ot '’ = Usgely # wEigfa #i
s o famn sramrce sftfeafaal # sveaga & forg spram #t 78 wiw =1 o & fag o e %1 @iga
T # | w4 e FramER ® 2 w9 feooht i |

(c) Shri'A', serving in the Indian Audit and Accounts Department who is on study leave in India has been
sanctioned a grant for the cost of fees paid forthe study in exceptional circumstances without obtaining
sanction of the President. Is it in order ? Please comment. (3 T*H/Marks)

(%) TH G FHE, foet T Pevet 8 F 30 A w5 favw swfors gt w1 oy vee € @ o €, 4 6
Favet A H, WRdTa TERET $SEH F g HHifEd U veane e § wm e #F e 10 A
sifafiam vy sfors 922t %1 ¥am &0 & fa srvardes fem 2 1 g feaoft = f @ 10 fl @ for
fersty aTmerfons gzdl wiwd € ?

(d) AGovt. Servant who has already availed Special Casual Leave of 30 days in a calendar year has further
applied for grant of Special Casual Leave for 10 days for participating in a Trekking Expedition approved
by Indian Mountaineering Federation in the same calendar year. Please comment if the special casual
leave for 10 days is admissible ? : (2 3{F/Marks)

4. (%) g frovht w3 f w2 Prefafes amel & gy § fafeen =4 =1 wfagfd s € -
(a) Please comment whether re-imbursement of Medical expenses are permitted in respect of the following
cases :

(i) e Tafwem s, S Sfew &2 ST 9T &4 @1 8, 3 107 9HG F 918 W o faum & v FHE

F 7= i g T YR Feet @ foe v 100/- o e #
Amedical officer in receipt of NPA has charged Rs. 100/ for the professional services rendered to
the wife of a DAD employee after hospital hours.

(i) Fft wifererat Zr T ITER W w150/~ 1 =47 9 Wik fafwan ofiarE g e ®
yaifor % foF 39 ST=R Ft gfaen faw oy s greEw s § Ses T
Expenditure of Rs. 150/- towards Massage treatment by private masseur certified by an AMA that
facility for this treatment is not available in any local or recognizei:l hospitals.

(2 +2 =4 SAF/Marks)

(@) T ue Fafreq sToeR wd F1 witga fafeea wfee & e € 2 af &, @ fae oftfefe 2
(b) Can a Medical Officer be his own AMA ? If so, under what circumstances ? (3 37F/Marks)

(M) = FaEE R WA e § 4 S B e # 9 H w9 9vd W 549 F 9w A 2
(c) Whether expenditure on spectacles is reimbursable as part of testing of Eye sight at recognized
hospitals by specialists ? (2 SAF/Marks)

5, (%) FU9 TATE R 1 U Afeen G wHER # 74 franfea ofa w1 g2t amn fara e # 2 af wn, @ e

oftfeafaal & stefa 2
(a) Please state whether LTC to a newly married husband of a female Govt. servant is admissible ? If so,
under what circumstances ? (3 37%/Marks)




(@) 4t ‘A" 3 T g e e 5 v 5 § S 56E ReR @ 58 91 ® weu N 2 el wem g 0
IEH TEFR F A1 F ¢ SElE H/S 79 G 3 250G F AN F B | T 9 Sraden § whe § 2
(b) Shri‘T"submitted a claim for LTC in respect of some members of his family who performed journey to
his home town in Karnataka while some other members of his family performed journey to Dehradun.

Whether the same is admissible in Audit ? (3 TFH/Marks)

(M) 41 37 T FH=faEl F gedt am fama wied @ e v wien fawm fm gr feon W m ah
| A w R | A w, R et § 2

(¢) Whether LTC is admissible to the Govt. servants who travelled by buses hired by the State Tourism

Development Corporation ? If so, under what conditions ? (3 sTF/Marks)

6. (%) Fa feomit = i 1 S forera (a6 e /eifiesaione facie (e sifw R-s=me) W =9 yos

FRTT TEHER FHAE B gl @ 2 2
(a) Please comment whether stamp duty on Mortgage Deed/Deed of Re-conveyance is reimbursable to
the Central Govt. Employees ? (3 HF/Marks)

(@) T T w0 A e e e g @ R @ sl see g fordt R e Pt sifim =t

T G el I I W Fo W | O el F wue w T weta e metfemiata (Rewee) @@t
S ? 3T F-Fm v 2

(b) Shri‘X', a Govt. servant dies intestate and HBA taken by him has been fully recovered from gratuity. In

such case, to whom the mortgaged property shall be re-conveyed ? What are the conditions

thereon ? (3 #F/Marks)

(M) 1 73 T R F Ty | e fmiv sfim # wiet ® 6 Tm-uera ym-an st 2
(c) Isthe production of Non-encumbrance certificate mandatory for grant of HBA in respect of ready-built
House/Flat ? (3 sF/Marks)
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qmr - 1
SECTION =11
wiasy fafir afi Yy

Provident Fund and Pension

(|5t & fer)

(Common to All)

L (%) e e A e o wforfed o 9 o et v @ v o S R o | fify o oot B 2
T N w7y & wvEr sE T P TR B 6RO eI s st e € v ¥ o
A o | o T #1X fF F 3 wER e s gear @ 2

(@) AGroup 'C’'employee made a nomination in favour of his mother at the time of joining the Fund. After
a period of seven years from joining the fund he cancelled the earlier nomination and made a fresh
nomination in favour of his un-married sister. Please explain whether the same can be accpeted ?

(2 F/Marks)

(@) o e 't Foar, st g sty ffy 71 o e 2, 3 S $ S g T gd @ e w5 ot
FW gL AR F TER T A | v W o e e € 2
(b) A Group 'B'employee who is a subscriber of GPF made a fresh nomination after retirement changing
the previous nomination made while in service. Please explain whether the same is acceptable ?

(2 HF/Marks)

() Fr v w71 Frefefen ame § qmr vfs fif @ s s #

(c) Please explain whether withdrawal from GPF is permissible in the following cases :

(i) wmr= sfass f3fy & o s, o ot Ot &1 o wurie’ & fer smeron o S # foan o,
A3 F e w R @ e s w1 ww e we-a e e
A subscriber of GPF who availed a withdrawal for ‘betrothal ceremony' of his daughter submitted
another application of withdrawal for performing ‘marriage’ of the same daughter.

(i) wmr= e ff & o sifimn, form 5193 78 7 4w & fwio 3 fere s =1 w9 fan o,
T % e G U A F e e o €8 ® e WO a R # edE # o v
THU M- wegd
A subscriber of GPF who availed a withdrawal for building a house at his home town submitted
another application of withdrawal for purchase of ready-built flat at his place of duty after a gap of
five years from the earlier withdrawal . (2 + 2 =4 5F/Marks)

. (%) wF SEEnT o U U R Sy @ R St fag e T @ 1w see v U9 o e 0 o
&, 9 38 FF UF §Fa & ok =4 2

(@) Shri‘A', a pensioner has been convicted of a serious crime. Whether his pension can be withheld ?
If so, who can withhold and why ? (3 3FFH/Marks)
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(@) @mmaﬁ'%‘mﬂﬁmﬁqﬁaﬁa@wﬁwaﬁmﬁ#ﬁwaﬁ%%mﬂﬁwm
wEa ¢ | 1 9% QW GEHA ¢ 2 FIA TR H, |

(b) Shri'K', agroup ‘A’ officer wishes to accept a commercial employment before expiry of one year from

the date of his retirement. Can he do so ? Please explain ? (3 sTF/Marks)

(1) e oran Fasm & s fafu s E S fa e sTiY @ R @ S UF 3 P ) wa w9 #
forg 37 72 @ -Ta R X | I e FfE ¥ dan fawm § oo g @ g &g e @ e
g ?

(c) Shri‘C', a Clerk of DAD resigned from his post to take up another appointment under the Govt. without
proper permission. Please explain whether he is eligible for benefits towards his past service in DAD ?

(2 =TF/Marks)

3. (%) T Pl Semsint uw et wa W g gy fafeen O @ wmy Suften B # o Fa e
iy s W = § T = T | I wve § Fraiga v ey fafrafea e s 2

(a) A'Lt.Col', adisabled pensioner was asked to appear before a re-survey medical board. However, he

refused to do so. How disability pension is regulated in his case ? (3 1F/Marks)

(@) T R F e 3 qardaE v e ok 7 g o # g wm 4 | e oftEn e e d e
fopan o wa € 2 4f% o, o fem wd W2

(o) Awidow of a ‘Major' remarried and deserted by her second husband. Whether her family pension can

be restored ? If so, on what condition ? (3 3TF/Marks)

(1) A fo e i gan A A e gl W faes ftan e ey e @ 2
(¢) Please state on what rates the special family pensionary awards are admissible to recruits and young
soldiers ? (2 3%/Marks)

4 (%) TF ‘S w6 TR I Y AR F ta @ way § i fafaen 9 @ v w0 & foe
FaE YRS FE F U HF a9 Wiued § SR woE e | o fafwam 9w oy w9 o
g " # ?

(@) Who is the competent authority to initiate action to arrange re-assessment medical board in respect of
a‘Lt. Col' and a PBOR and what is the time limit for arranging such medical board in each case ?

(3 sF/Marks)

(@) F991 T 5 T TF TS SN, F Fay F UF E W TR I F SO T A H 5 USH F
oM F AT AR (FER) FA § T o wuE s (F) # w2 2

(b) Please state if the PCDA (Pension) has any role in the transfer of payment of pension from one place

to another or from one agency to another in respect of a retired JCO ? (3 #*/Marks)

(M) oEgd ArEE E ' e e e o | 31 ST GO SR T o G 2 2 Ul F Ud FEed # HaY
30 g i fea ST ot 3 2

(¢) Ex-Naik 'K'changed his nationality. Whether his pension can be continued. To whom is he required to

intimate such change of Nationality ? (2 H*/Marks)
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5. (%) fa 01-04-2008 F v U WAl gU A 1 N Q . B ayafen = § 7
(@) Who allots PPAN to new entrant after 01-04-2008 ? (2 HF/Marks)

(@) & WFR FHIR & UF FEd | g FEed § WEaid 89 W) T 9E gem # v sus sfm 36
Ao ¥ el gR wE-9 | faael 1 seoe F anfia € 2

(b) What are the details that are required to be indicated by the DDO in the LPC of a Govt. servant on his

transfer from one office to another under NPS ? (3 3TH/Marks)

() ¢ 9 AN F AT SIRA N/ EITE D, w-uw o § @S i g fee-fam stEd
faerott #1 Seer@ e andfem © ?
(c) What are the mandatory details required to be indicated by the CDDOs in the RTGS/NEFT application
form under the New Pension Scheme ?

(3 sT®H/Marks)




(]

()
(@)

8

Il - dwfeasw
SECTION lll = Optional

IU-WI (&) — 98 /A
Sub-Section (A) - ARMY

AR B UF SEW F [ Heq Uiz W FE F forg F741 I 6eEe € 2
What is the eligibility criteria for an Army Officer to get Qualification Grant ? (3 ¥T%/Marks)

(@) T T Hfaerurta iF § $7 'vae’ g0 F T a 39w | werad @ fog siel s gt € 7

(b) Canservice rendered by Captain ‘X' in a brevet/local rank count towards increase in pay ?

(m
©

(=)

@

()
@)

(&)

©®)

()

©

(%)
()]

(&)

@)

(3 3iF/Marks)

O F TH S F V& o e Ry v 0 SuH A g2 AR Wi € 2
Will '‘Parachute Allowance’ granted to an Army Officer continue to be admissible during his annual
leave ? (2 s*H/Marks)

FYA T F T G (B SRS ) /GRS (SFAFNA) T U AHSF G F A
w7 ?

Please state whether High Altitude/Uncongenial Climate Allowance is admissible during casual
leave ? (2 #T%/Marks)

T FEW I YA P FiiE @ g F 30 F e EF F F0 aie € oI e wfver w2 2
What is the date of commencement of pay in respect of a PBOR and on what authority ?
(2 3%/Marks)

TR feeig 399 1 W R 9 F fo aea 34 OF W S & 9 A9 F s w5t o feat sen
(urte) i S oTifeE 2 2 59 SEva % for o A Y Fn st € 2

How many sorties a PBOR is required to put in per year to be eligible for grant of Air Dispatch Pay ?
What is the periodicity of a year for this purpose ? (3 sF:/Marks)

TR 309 WE H @ AGW F 1 A A w1 Fifs 79 Tl a0 UF Eaw ST WS 2 | F
FaTd o fFa vEl & ol e 999 39 =i g s @ ?

PBOR in receipt of Parachute Pay proceeds on a course of instruction lasting ten weeks. Please state
under what conditions will Parachute Pay continue to be admissible to him ? (3 31=/Marks)

N UF FFW F F QA F wiE F g6y § 2 v F afafEm avE ww wie 7 2
Whether Ration Allowance is admissible in addition to Daily Allowance in respect of PBORs ?
(2 FH/Marks)

FETEA F U FOHF F1 A9 F od § g7 F1 W HieE gl dne 7 fawnfa € | an & a6 H v
arctt sty =1 fovm war fafFafira fe smom 2

Casual Leave granted to an Army personnel at the end of the year extended to next year. How the
period falling in the latter year is regulated ? (3 FF/Marks)
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(M) T e R W 190 Al 1 srafy @ fore o wivg st weme A s on @ fae e @ @ e

(q8) % forg v wfiga frm wmn 2
(©) How the move of ‘Col K' is classified to attend an authorized course of instruction for a period of
190 days at an out-station ? (2 sTF/Marks)

(%) IEHA % T UHS SRR H AR W e Fhfie s vz 3 ) a9, s v 5 i
fifea 2, S o R @ 28 foreiiter %t g W fem # 2

(d) Whatisthe rate of Composite Transfer Grant admissible to a single officer of Army on transfer involving

a change of station located at a distance of 28 kms from the present station ? (3 s=/Marks)

6 (%) wm%mﬁm(m)ﬁwﬁwﬁﬁmm(mﬁﬁz)ﬁﬁmﬁﬁlwa&mm%wﬁﬁ

e H |
(@) How many compartments does a PCDA(O) Account Number centain ? Explain the significance of
each compartment, (3 =T%/Marks)

(@) e TR F Ty H SR WgEEd % e U Sm- 1) SRV ¥ 1 g ffea €vht 2 7% frm sgva

9ff e # 2
(b) What information a Part-11 order for course of instruction in respect of an Army Officer shall contain ?
What purpose does it serve ? (3 &% /Marks)

() ST (FEAERYE) FTIHRA (SR Sererg 89 W 499 AR TR 3 79 e ®, @ g R
T TF FAIV-9F F S ISR W B O W W o R, o se sgmovers weag 69 6
SR A AR A s e T R R | S S WA u g s (T %)
fFreymRwa € ?

(¢) 'Maj X' posted in High Altitude/Uncongenial Climate Area has preferred a claim for HA/UCA Allowance
with a self certificate that he has not drawn Daily Allowance during his posting in High Altitude/Uncongenial
Climate Area. How do you cross-check the veracity of his certificate ? (4 SAH/Marks)




)
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T 1] - dwfeus
SECTION Il - OPTIONAL
Y-\ (@) — argaer
Sub-Section (B) - AIR FORCE
L (%) Seia am g s & 2
(8) What is GCB Pay ? (3 s%/Marks)

(@) sttt =i 7491 wam foran v & ? arge A for 3 o s, war fe s # 2

(b) Why is GCB granted ? Upto what rank in Air Force GCB is given ? (4 SF/Marks)
(M o At st # wra w0 @ fo we eweR v § sk e an
() When an Airmen is entitled to get GCB & how many times ? (3 3i%/Marks)

. (F) aﬁméﬂ?mﬁﬁg?mﬁﬂ?ﬁmwaﬁﬁﬂmmﬁwmﬁ??

(@ Whatis Qualification Pay ? What are the conditions to regulate grant of Qualification Pay ?
(4 37%/Marks)

(=) (D) wwﬁm%%wmﬁméﬁqmmmmé ?
(b) Can an officer of the rank of Air Commodore, be given Qualification Pay ?

(ii) = o7ea 2 1 weit I53val % Fore O 3o % ®9 % 7F1 S & o 1 38 & Fraaa % o femmm
¥ form s wFm 2
As Qualification pay is be treated as pay for ail purposes, whether it can be taken into account
for purpose of pay fixation ?

Giii) wmﬁméﬁaﬁmm%mm%mwm%,ﬁw%ﬁﬁmma‘;w&maﬁf‘m
AT w9 H ayifem of 2

Whether qualification pay can be granted for a qualification which was the minimum required for

the entry of that officer in commissioned rank ? ' (1+1+1=3 5F/Marks)
(1) ST A9 SR S iz % W S B T 2
(c) Distinguish between Qualification Pay & Qualification Grant ? (3 sTF/Marks)
. fr=fafes 9t sika feogoft forg -

Write short notes on -

(%) 37 % guifa (Ffeem) ok 407 =1 geeo (FRETR)
(@) Cessation of Pay and Forfeiture of Pay (2.5 s%/Marks)

(@) 33 3R vA FH-%1 9 # fogs AU TR (T2R=) s e w2
(b) What are the rates and conditions under which entertainment allowance is admissible ?
(2.5 51%/Marks)

() Wa@mﬁﬁﬁmaﬂaﬁmﬁw??ﬁwmﬁwwﬁwﬁm ?
(€) What are the current rates, of Gallantry decorations in Indian Air Force ? Date from which the award
will be admissible ? (2.5 3iF/Marks)

(=) sy=fe g
(d) Funeral allowance (2.5 siF/Marks )
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(%) fo=-fo var = gfeeal sh-am @ § fo agdfel =1 wipa #1 w g € 2 f
(a) What are the different kinds of leave that can be sanctioned to an Airmen ? (2.5 s=F/Marks )

(@) WA TG H TR F Ty il Geel B GHGH Fl e The T A i € 2
(b) How the entitlement of furlough leave calculated in respect of officers of Indian Air Force ?
(2.5 si%/Marks)

() F TF FTHEE Fell g2 @ ARE gL qr Faraa w5 s o g € 2
(c) Can an officer avail LTC during furiough leave ? (1 3T&/Mark)

(9) foker # vt s sigen faee & Sara SR aga wiiE w1 ggd ghed PE-sa W € 2
STRER I Bol GIot Wipa 1 51w ¢ 72 A 7, A e sred Wi fres wiiven @ s 2

(d) What are the leave entitiements of Indian Air Force Personnel serving in Indian Embassies or Mission

Abroad ? Can furlough leave be sanctioned to such officer, if yes, on how many occasions and under

whose authority ? (4 sT%/Marks)

(%) i Y gzd fara fFd Fed € 2

(@) What is sick list concession ? (3 #=w/Marks)

(@) Faia (i) g2t & forg wited sread t BH-wt Sfvrai sar & 2 T ewEd R 2
(o) Which categories of commissioned officers are entitled for Terminal Leave ? What is the entitlement ?
(4 3F/Marks)

(1) wow Y-y FH a9y AR G T-oaty # ol 89 W sifywan d e @ e dm oA
T Y Yol FHE (Y. UE L) AHE G T 1 TREET R S el € 7 5 Sifueman S e

T W TwATw R W R, @ F gai g 9 ewerd uwfaa gt g 7
(c) What is the maximum limit upto which leave can be encashed by a SSC Officer after the end of first
tenure and on completion of second tenure ? Whether the entitiement of terminal leave is affected

when the maximum permissible annual leave is encashed 7 _ (3 31=H/Marks)

6. B2 4 s 1 o 39M A EE & Frefefen arel | weer W SR Ha gr # S Al s W feof
w ;

Comment on the entitlement and the checks by the CO, to be enforced in following case of officer availing
LTC;

(%) Atz Fie ‘T’ wifs Qv ‘€' § Yara # 1 Jd 2013 B forg aifiE w2t 51 ovafy # A 3w
Toil WY SO T8 TR R w0 B GR T gl @ S 2 | 1450 Freite § arfus @ #
(@) Lt Col. 'X'is serving at a peace station ‘D' During the period of Annual leave for the year 2013,
he desires to proceed with his wife to his home town, 'K' by rail which is not more than 1450 kms from
D'

(i) =% = foraw ag amn fafraamEet, fag 177 () 2 om = 31efts foarm =1 oy S8 =1 93 =@ 2 |
In the year in which he chooses to avail of the concession under Rule 177 (A) TR.

(ii) =% = foad 97 amn fafraamaet, fam 177 (@) @ o & siedi= fargd &1 o 38F &1 =99 S 2 |
In the year in which the officer chooses to avail of the concession under Rule 177 (B) TR.
(1.5 + 1.5 =3 3AH/Marks)
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L (1@)ﬂm'm’mwﬁraﬁtmp%mmﬁwwaﬁmﬁm%lwm'ﬁ'ﬁ‘@'(wﬂm)
F1 30 1450 Ppeitite @ aifys 2 |

(b) Maj. X' proceeds to his home town with his wife and son. The distance from duty station ‘P’ to 'H
(Home Town) is more than 1450 kms.

(1) =& = fored % arn fafrmmmast, fram 177 (q)aﬁm%mﬂwfwmawwaa#mwm%

Inthe year in which the officer chooses to avail of the concession under Rule 177 (A) TR.

(it) =% o fired =g amn faforammact, frm 177 (iﬂ)a?ma%mﬁqﬁmammmwwaﬂm%a

In the year in which the officer chooses to avail of the concession under Rule 177 (B) TR.
(1.5 + 1.5 = 3 3{F/Marks)

(M) T TEW Mwsﬂa%mqswémﬁﬂmémaﬁmammé,ﬁmﬁ 1450 fepetrer
W sifr # s a amn faframmeh, fram 177 € am%a%ﬂagaﬁwﬁmaﬂwmmﬁmwm
21
(©) An officer desires to proceed with his wife to a station other than the home town station which is more
than 1450 kms from HQrs and chooses to avail of LTC under Rule 177 (B) TR.
( 4 3F/Marks)
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T Il - Awfes
SECTION Il - OPTIONAL

Fq-9T () - R
Sub-Section (C) - NAVY

L (%) faihﬁaézon-ummamwmm,ﬁmm%ma%wh o1, & Tt Taw &
2012-13 & Tirfa (DT ) famar T @ | zg e R SrEie g e W o | e

ZRT Ft 7E ref @ ¢ sveran sr=yen # 2 feomoRt T |
(@) Unexpended entitiement grant pertaining to financial year 2011-12, which was at the disposal of CNS,
waw carried over to the next financial year, 2012-13. This action was objected by audit. Is the objection

by audit correct or otherwise ? Comment. (2.5 SH/Marks)

(@) Mmﬁﬁgw.m,mﬁtmqﬁmwﬁﬁzmémwmﬁw
% forg wem Wikt g STgAR RM fwar T o | EER ST A 9 ® I o | e

o | feogoit =X |
(b) Approval was accorded by competent authority to Lt. Cdr. for payment of prize money for proficiency in
musketary, rifle, pistol and light machine gun firing. The prize money was paid through ships cash

account. Comment. (2.5 Sw/Marks)

() e s gErfa iz R wie § 2 56 e & SR € 2 Tie =1 = FA Y w7 W ?
(¢) Towhom welfare and amenities grant is admissible ? What is the objective of this grant ? What are the
limitations in expending the grant ? (5 sAw/Marks)

2. (%) wﬁﬁmm%mﬁ‘m',ﬁnﬁﬁaﬂmﬁmwgmt#mmmﬂ%mwﬁmm
e Tar TR 3 e FR M H W w1 | sfr % wget ® feg yar fafaf fem smem ?

(@) Commander X' of a Naval establishment, who is left with 5 years of service applied for motor car
advance and the competent authority sanctioned the MCA.How the recovery of advance will be
regulated ? (4 HF/Marks)

(@) Tf% afm i efa fRy 9 & & a8 % Wi 39 THGT e W g faan W €, 9 A wHEE S
? 2

(b) Ifthe above Officer is removed from service after one year of drawal of advance, what is the course of
action ? . (3 HAw/Marks)

(m ¢ sree A TR @ T SEE F g TR R Heewr S wigd fam e | Ty L R

ST Y e e YRR Tt S 2
(c) AnOfficer of ‘Short Service Commission’ was sanctioned motor car advance by the competent authority.
Explain, how the recovery of advance is affected ? (3 3AH/Marks)
3. (%) WA fR S S e eree Frefefen s 7wt e + % AT mEfE F I @
wH |
(a) State, whether an Officer of Indian Navy shall continue to draw Full Pay + Grade Pay in the following
situations.

(i) TR Tfea TIEEFn TRV § SUfen B @ R |
The Officer is attending authorised course of instructions.

(i) e form B2t @ <) @ rqefeem 1

The Officer is absent for duty without leave.

(i) STHER SraAUTT ¥ TE A FEGH T H FgE e g
The Officer appointed as an Additional Officer to the ship/establishment.
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o (iv) STHE MR g2t famm we |
The Officer is on sick list concession.

(v) SET A TF 9 H 1587 arirE F =wE fam g
The Officer resigned on 15th of a month (5 a7F/Marks)

(@) Sffe= Favet 98, 9 FHUE & [ W F HAvS H €Y 1 WETH ©9 4 F4 F7 7 fou 8 73
o1 iR Ui 1 HATST AfF GG R Tl S ¢ | ARA= FAVE § FA0L F & F foe 377 Ft wgredt
% fore sysEe fran 2 | fewoft =t

(b) Lt. Cdr. 'Y'was asked to officiate in place of Commander, as Commander of the ship goes on annual

leave. Lt. Cdr. applied for increase of pay for the rank of Commander. Comment. (3 3T%/Marks)
() few arie @ T faw B 999 SR 99 w9 e o wwar € 2
(c) From which date the pay and allowances of a Sailor can be discontinued ? (2 s=/Marks)

4 (%) ¥ FeTFHerE Fa FHIYE AT 1 Yty vda gzt @ € 2 af o, @ 70 g € 2
(a) Isleave pending retirement admissible to Short Service Commissioned Officers ? If so, what is the
entitlement ? (2.5 s1w/Marks )

(@) T A O | Fr A T 1 15 T A wel gt ® fon steaee fean on ok W # dal g
wrpa X faan man o | feogoft ¥ |

(b) Sailor X' working on a Naval Ship applied for “Furlough Leave" of 15 days and was sanctioned by the

CO of the ship. Comment. (2.5 3i®/Marks)

(M) T yiaata g2 w gee F ety & @ | s wmem (ffeass) semn ar | sier smem (afewe) 2
(c) Whether restricted holidays shall be prefixed or suffixed to the leave period ? (2.5 sTF/Marks)

(%) e T ® e AR F 23-12-2013 F wsE e | 20 A # st gedt @ fa s e
o1 | Ha. 7 3 2013 % forw g2t Wi w0 | Tifaw 3 stwieTs gE #1 AN S8H § IvER TgE & fau
feaid =1 | feonft %Y |

(d) Sailor "Y' of Navy establishment applied for casual leave of 20 days with effect from 23-12-2013. CO
sanctioned the leave forthe year 2013. Sailor reported for duty availing casual leave. Comment.

(2.5 3¥H/Marks)

5. (%) AR & T FidE 3 T R W 9RER SR s () # o e W arenfusr () # fag
srvdea fean | afk uronfusr i stafy 18 wE R, O i w0 A e Wik S g 2

(@) ANaval personal applied lien on conveyance for family and baggage on permanent transfer. Who is the

Competent Authority to sanction, if the lien period is 18 months ? (2.5 3TH/Marks)

(@) wEfine g, Jw ndiar favrerze 3 fre wiusr & sfiewmer # fam s ar s 2@ =
wea T a1 | < erarEn wrates gr wter fian man o o feogof ¥
(b) The Admiral Superintendent, Naval Dock Yard, Visakhapatnam, submitted his TA claim without
countersignature of controlling authority. The claim was retumed by the audit office. Comment.

(2.5 3FH/Marks)

(1) TE W HA FHE B SR AR Cwet G S Y s0% v v P (feufafedt) € ot 9w
fRame gt & Sia 3T Fried # e g e o e =@ € | Fy 3] s a2 ofmes v #
forg wwer € sten 7 ?

(c) A defence service personal has 50% permanent partial disability of both upper and lower limbs and
residing at government accommodation near to his place of office within one kilometer distance. State

whether transportation allowance is entitled or not ? (2.5 3¥F/Marks)
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(=) w:ﬁwlsﬁﬂﬁaﬁh'@éwmlwwhﬁrﬁ%wﬁﬁmmﬁmﬁlsﬁéqﬁﬁ?ﬁ

= AR T faan | feooft |
(d) Anofficerwas on eamned leave for 15 days. The paying authority disallowed the transportation allowance
to the officer for 15 days, in that particular month. (2.5 3Tw/Marks)

6 (F) wm#aﬁmﬁmﬂm%mﬂﬁﬁ%ﬂ@mg@mm%mamﬁﬁmm;

FFe W fewult & |
(a) An Officerin his first year of Commissioned Service applied for LTC on authorised leave. Comment on
the entitlement. (2 sT%/Marks)

() S § FrE e fafafaa SRR T % g SR SRY W R | 9% TR0 SEEH Fl e g FIH
E#RWW%WWW@WWWWWW? | 7T for T
i & ? :

(b) A Civilian Officer who is working at Chennai is on transfer order to Mumbai. He intends to avail All
India LTC to his Choice Station, Visakhapatnam, combining with transfer move. State whether it is

admissible ? (3 s=H/Marks)

(m w%ﬂmﬁﬁfﬁm#ﬁwﬁuﬁmﬁgﬁamaﬁﬁaﬁmqgm%wﬁmm% |

favmaTTzTE ¥ 5 @ F A F F YR I FIEA TEARE w1 s A g TR F gfEfdd

¢ Tt Forg ST F Wi 1 3 Saw! e Wi e T ot | HE o 10 =Sl 1 g1 % AR 39

et SR T, e AT FK T | 9 I T e TR F AR F AN Y

syvarde faan € | feoguit &6 |

(©) A Navy Civilian employee on his first appointment at Visakhapatnam has declared Cochin as home

town. After 5 years of service at Visakhapatnam, he got transferred to Cochin. He requested to change

his home town as Mumbai and his request was acceded to. After 10 years of service at Cochin, he was
transferred to WNC, Mumbai. Now he applied to change his home town to Cochin. Comment.

(5 stF/Marks)

I




17

T Il - defeqs;

SECTION Ill - OPTIONAL

@
e

SU-HT (¥) - dhagh
Sub-Section (D)-FACTORY

(@ Calculate Average Ledger Rate by Manual system ang Computerized system both, where Opening
balance of ledger Folio of a particular material on 1-1-2014 was Quantity 2000 kg, Value Rs. 9000/-

(i) 2-1-2014 400 foream =7 arqs (fet) 7=
2-1-2014 Return note of 400 kg

(i) 3-1-2014 800 forettum 1 firfy s
3-1-2014 Issue Voucher of 800 kg

(iii) 8-1-2014 3200 foretom =1 wift e
8-1-2014 Receipt voucher of 3200 kg

(iv) 13-1-2014 2800 fatmm =71 w7y S
13-1-2014  Demand Note of 2800 kg

V) W S==R 1 #Hiua i v 16,000/~ R fea gy o7 |
Receipt voucher was priced at Rs. 16,000/-. . (5 F/Marks)

(@) &= (Fgs1) mﬁﬁgmwaﬁmﬁw%‘,w‘eﬁ mmﬂmvﬁzaﬁﬁmm%aﬁtwm

¥ite i yomeht 2 s g @ |
(b) What are the main steps in the manual system where Store Holder Inability Sheets are floated and
Material Planning sheets under Computerized system ? (3 HA%/Marks)

(2 AFH/Marks )

2 (%) “mmahﬁ(%wﬁm)"ﬁv@mﬂ%?m%ﬁﬁﬁwmﬁwmwﬁm

R
(@ What is the “systematic overtime” ? Who is the competent authority to sanction systematic
overtime ? (3 3%/Marks)

(@) Wmmmﬂ‘mﬁmmﬁ%mﬁw(m)mmwiaﬁ‘fﬁ‘aﬁfiﬁm

Stock Ledger ? (2 s1F/Marks )

SA5DAS/ 4-P-1Vv-2
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(m < Az S Fred § T Ry S 2, @ o et g 1 AR F S e ?

©

(%)
@

What action should be taken by the Account Officer, when Warrants is being received in Account
Office ? (3 siR/Marks)

sy (AR) sl @ 5 e (IF 39) aﬂtﬁmw%mmﬁmwmwmé ?
Is the loss statement necessary for the difference between book value and sale value of waste
stores ? (2 #FF/Marks)

3 (F) éﬁﬁ-ﬁﬁ%mﬁawﬁmm(m@m)mwmmm%?

@

(=)
)

(m
©

\What are the condition under which |dle time payment can be made ? (3 siH/Marks)
ﬁdﬁﬁﬁaﬁﬁ%mﬁmﬁmmé@mﬁw—wmaﬁmﬁ% ?
What checks are exercised in Accounts Office on the Attendance record of Industrial Employees ?

(4 FFH/Marks)
“ arrd frmm!! (BTEE-TH) ford wed € ?wwﬁmﬁm%mﬁﬁmﬂ% ?
What is “Dies-non” ? Is it counted as service ? (3 ZiH/Marks)

o (%) @ F qer R FE € ) < W () F IR () SR st (FREE) TR

(@

(@)

©®

(i)

wm%,ﬁmaﬁﬁwmﬁsﬁmﬁrﬂ
What is Comparison of Cost 2 Explain what action should be taken, when upward and downward
revision of estimates are noticed ? (2 s1FH/Marks)

TR e e el B ?@Wﬁﬂ._ﬁmwm%,ﬁmméﬁﬂﬁmﬁﬁﬂ
feam T ¢ ;

What is Guarantee Pay ? Work out the guarantee pay, if any admissible to @ |E’s whose particulars are
as under :

B3 499 S H, T Seiifir AR e 9 — € 13850/, TS A — T 4200/~ A1 | FE U,
2014 WE ¥ 9 fedi o Sufeer ot Fral 4 AR 3R 3 S 4 |3ﬁﬁ3q‘émqﬁm%aﬁt%a%ﬁrﬁ
o ISl TSI (g 3% @) T 855/~ 41 | < e A w300/~ St

In Sixth Pay Commission, An |E's Basic Pay - Rs. 13850/, GP. — 4200/-. He was Present for 9 days in
the month of April, 2014, which consists of 4 Sundays and 3 holidays. He had performed O.T. for 8 hours

and, his P.W. eaming during month was Rs. 855/-. He had drawn O.T.B. Rs. 300/-. (8 31/ Marks '

sreurd <98 W e ¥ 7 % 9 12 @ W erqatefa # fere 2 g =T ] 7 F A ¢
What will be the DA rate applicable for absence of 7 hours:but less than 12 hours from headquarters on
temporary duty ? (2 37%/Marks)

e VYA W 185 ﬁﬁwﬁﬁﬁwﬁﬁmwmﬁmaﬁmm%ﬁm sy g = fom ferfa @ 7
\What is the rule position for applicable DA for an employee for a continuous halt of 185 days at
outstation ? (2 FF/Marks
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(i) =1 o =t 1t < vorer g ﬁ?eﬁﬁaaﬁwﬁru%w%ﬁmwmﬁaaﬂmé ?
Can an individual draw DA outside a radius of 8 km from his duty point ? (2 HAF/Marks)

(iv) W%mm@q@maﬂaﬂ%(miﬁ%) 3w sef wm
When an individual will draw only % (one forth) DA on temporary duty ? (2 SF/Marks)

e fram # e o= ST Y H TR FX |
(@ If both husband & wife are Govt. Employees, have declared separate home towns independently.
Please explain the benefit available to them under LTC Rule. (4 31%H/Marks)

(=) Wﬁmﬁqﬁ%mﬁﬁﬂiﬂw%ﬁmﬂwqmﬁwmwmwm%?

(b) Cana re-employed employee after retirement avail LTGC ? (2 F/Marks)

(m wwﬁaﬁaﬁaﬁwwﬁangqé}mﬁmawmmmm%?

() Cana suspended employee’s family get the benefit of LTC ? (2 3%/Marks)

At ¥l B T Y
(d) Explain the condition goveming LTC for calculation of entitlement for Joumey conducted by two different
mode of transport. _ (2 37%/Marks)




